Model Question Paper
Sub: Persian Class: HSE-Il Marks: 80 Time: 3 Hours
Section: A (Language) (11 Marks)

Q1: Translate any four sentences into English/Urdu/Hindi (4*1=4 marks)
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Q2: Translate any three sentences into Persian (3*1=3 marks)
1- My servant brought a letter for me.
2- It was cold yesterday.
3. |s this road leading to Jammu?
4- |t was sunny yesterday
5. Sun is bigger the earth.

Q3: Read the passage and answer any four questions in Persian.

(4*1=4 marks)
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Section: B (Writing Skills) (15 Marks)

Q4: Write the meaning of any three words in English/Urdu and use them in

Persian sentences. (3*1=3 marks)
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Q5: Arrange the following words to make meaningful sentences.
(4*1=4 marks)
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Q6: Fill in the blanks with appropriate words. (4*1=4 marks)
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Q7: Write an essay of five sentences in Persian on any one of the

following topics: (4 r-narks)
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Section: C  (Applied Grammar) (12 Marks)

Q8: Conjugate any {wo infinitives in simple past tense (5 marks)
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Q9: Conjugate any two infinitives in present tense (5 marks)
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Q10: Make any twoverbs (2 marks)
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Section: D (Literature) (42 Marks)
Q11: Translate any three passages into Urdu/English/Hindi (3"4=12

marks)

\J@AT_M&\J&JM‘@JJJM‘JQQG‘JA (a)
5353 g Sy gy oy Al a4y ol ey plig 5 S 20,AT
.mb@‘\m:ﬁ.}ﬁ

S dgy el e ias ya el 45 oy fe gl cutig (b)
e T (cart 5 g sl lim S 35, gy 845 guadl 50 st dyma 20
efd

e .0l 93,535 a5l ree 40 tisad ;e (B 3LT a5 Ol (c)
JJJPJuTM@:Jq%u}#JQjMM@&Mﬁ‘J
Aebup 4350 45 o iy 2y y S

ol (3483 4 2T (53 pa g o) a0} 3a , 7 s3La (dl)
?yw)\f?luﬁf_mt Hf&ﬂﬁarb_m\)m&@ﬁg})huj;@}&
| b g

m’ Q12: Translate any two passages into Persianl (2*4=8 mérks)
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Q13: Translate any two verses into Urdu/Hindi/English ~ (2*3=6 marks)
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Q14 Translate and explain with reference to the context any two verses into
Urdu/English/Hindi (2*5=10 marks)
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OBJECTIVE TYPE QUESTIONS

Q14: Choose the appropriate answer (6*1=6 marks)
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